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M.Sc. DEGREE EXAMINATION, APRIL 2017.
I YEAR — II SEMESTER

Non-Major Elective I — QUANTITATIVE APTITUDE
Time : 3 hours 
    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. What is the product of all prime numbers between 80 and 90?

2. Define factorization method.

3. Write the formula for percentage increase.

4. If the toys is sold at `330 by keeping the profit `20 .  What is the cost price?

5. A and B can do a job in 6 days.  A can alone do in 10 days.  How much time does B take to do job alone?

6. A completes a job in 10 days.  B in 15 days.  A,B,C  together in 5 days.  How long does C alone completes a job?

7. How to convert kilometer into mail?

8. An athlete runs 150m race in 60 sec.  What is his speed in kmph?

9. Define Tabulation.

10. Which are the numbers are divisible by 11?

11. Define common division method.

12. A completes a job in 12 days and B takes half of A days.  If only one day both A and B work together.  How much work completed?

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. If  the HCF of 289 and 2278 is 17.  What is LCM?

14. Find 30% of 450+18% of 300-x =150.
15. If A works for 8 hr/day for 6 days, B works for 10 hr/day for 8 days.  If both A and B works to complete a work in 10 hr/day.  How many days they take?

16. A train running at a speed of 54 kmph passed a signal post in 8 seconds.  What is the length of train in meters?

17. If the speed of the 3 persons A,B,C  are in the ratio 3:2:5.  What is the ratio of time taken by them in covering same distance?

18. If by selling an article for `390, a shopkeeper gains 20%.  Find the cost price.

19. Which number is divisible by 241+242 +243+244.
SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions
20. When 45000 is divided by 1800 the quotient is 25.  What is the quotient when 45 is divided by 2500?

21. A shopkeeper uses weight of 950 grams instead of kg weight and claims to sell at cost price.  What is his profit percent?

22. A and B can do a work in 8 and 10 days individually.  If A,B and C have completed the work in 4 days.  What is the payment of C from the total cost of work `3500?

23. A person covers equal distance with speeds of 2 kmph, 5 kmph, 6 kmph and 7 kmph and takes a total time of 106 minutes.  What is the total distance covered in km?

24. The following table gives the percentage distribution of population of five states A,B,C,D,E on the basis of illiterate and sex.

	State
	Percentage of illiterate population
	Proportion of male & female

	
	
	Illiterate 
	Literate 

	
	
	M:F
	M:F

	A
	20
	5:6
	6:7

	B
	30
	3:4
	3:5

	C
	25
	1:2
	2:3

	D
	20
	4:3
	5:2

	E
	10
	6:5
	3:1


Sufficient I :

If the male literate population for state C is 1.2 million.  What is the total population of state C?
Sufficient II :

What will be the number of literate female in the state D.  If the population of state D is 6 million?
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